B A B R Hs —on S—

(ERTHIM] Ri254E4 A2 H ~ FERi254E4 A8R) BRI ERBR S

B
BT, FRFUR D SSBIR 2 CHERE I THERB L T3,
U E o BEiEhiL, RERIRHTIX25~4/V BIELEL) £, EFIRHTIE35~AL (BIEL 1511
B e o T, ELIZ[RMER I LTV,
KREAIRIZ, BETEKIZ19°C~22CH, LEBRERITI1ISC~21 CATID2RIED | THBL T\ 5,
BB 08 EH AR, 125 (FHi) 1220. 1°C, 135 (BHM)1X20. 6°CTH-oT, 105 (EF I
T —&72L,

P

PN (S8, 280800) ¢ KEREROEFIREE OB 2818901, BF ~8ET < b P51 H 124
7203kg), vV 3o THOKET, FIEEMERIKE T2, RIBIREZEOSLERIL, TFEKk~83&T
<% 37, 18 (F85kg) . =H/%0. Thi/  "HYVFH0. 9h DABIT,

INAR () . TEBOZEEIL, FESSIETVLALTT0. O (F29%g), T/ H 1. 5D kBT,

HVF =i (A, £, IEE) . BFIREEORERIX, BiE~64%1 V24, 5h(FT70ke), 2V
0. 2/ (EI8kg) DB, INEF~31E 4V 40. 7Th(F20ke), IV Th0KETF, HEBRIOR
MEEIL, FHE~208 140, 8h(FI38ke), BV Z LT hDKBT, B ~51EL Y42, 9h(F57ke).
2T (E1kg) DB, RBIRE DO BB, TEFEAK~128F45Y47. 3 (F57ke), BV
0. 6~ (Fl4kg)DABIT, IBEESVIT, FIH~1EDY40. 3 (F262ke), BV Zb 0k EF, A
HL~4EHYF5. 3h(A1, 343kg), ELZ0. 4br DABT, B ~138 V421, 8h-(/1, 668kg).
0. 8k DB, HHEEK~16EHYF17. Oh(F1, 073kg), B Z1. 3 DABIT, FHEIX
KBGITF 2L, REEBMIIEE ~28 0 V431, 9h-(F15, 946kg), BV ZOTHDKET, ~ 7/ it
X, FATEIa< /IR SNF(IAF)ILER, INAF (V) 268, AT (ANTF) 12K, AF (X)L
<) 394, P AR88EA, AVHIHTEARDKET,

AVHMa (R - REBREDOAT S BRI, T /ML ~55%843. 0h (R 782ke), THEEAK~414£13. 0
FA(R319kg) DAEHT,

TVIRR (T 0 EEOV IR, REBORE~1082. 41 B 18EY 720 241kg) DKBIT, FE
DOEF~3FHOTH(F18ke) DAET, Sl ~22811. 7r(F530kg)DKBIT, T O HEFRIZAKE
F7el,

VATEERR ¢ LEBOVATEEX@RIIEMOFRE~5EL. 1M1 B 18 %729844kg) DKBIT, HiD
Bl ~12%4. 6F(F1391kg) DA ST,

KEEEM : ERIFERHK (SHAERH) DRIEERILS5. 3t , ARFITIZZY (FURK) 1, 5424, 7V (X
Jaik) 1, 737K, T T5. Aby, B HHL, 8h, wATU0. 1h, IAALTL DT h HFIFAT b
Th AT HL42. SNAMDKBGT, 1§ EERBCHEAERH) ORBERIT30. 4h -, AEFITIX, 7
U (ZV#k) 3684, 7V (AP u#k) 5574, =70, Th, 3 3F1. 9b, UL ALTL0. Obv, W EIF AU
0. 2 AD KT,

FEM . BERBENERO TR EXMEREIL115360. 6F (1 B 1#47-032. 8RADKET, AERITIL.
HETFATL 8. 2h, UNALT L 307. 1R, Y3328, 3hy |, FEF-T16. 2hAMDAET,

T8
i
BT, RIBIRRSH, EPRREIHLE THER 120 O | THRB LD,
REAKRIE, TEBRERIEEEL 2 | THBLE), (FHEE: LEBRFIR18CHRY)

[ R fE#H]
ZHER(AASHEM) TIX, H<YMETL, 327. 3hAH 3L, 236. 682, wATUL85. Ohr, w74, 4b
V), BB TA5. OFA(FU(T V)L, 7034, TVTTH#K)2A, TV FF#K)1594, Y4012, 7hv,
HEIFATL6. by, =T V2. 8hi, Hri=2. 3hAM)DABT o7, EIRR(AA 5B )T, £X8
T335. 8h(F /%325, Th, UNVALTY9. 5h AFZTFATL0. 6b ), B T4, 3 (FF4.0
koL YVF0. 1hA), 2Ry F R T TR27. TR DKBITF o7,



RN b w1 ¢ N [ - — | ¥ S\ L ST
d 152 % 33 134° 197135° %*’E‘;Ji
s - (4H2 H~4H8 H)
\ /ﬁ IR . B 7 EOKIR
DL No. 3 4,/7~8 £ w | =
EBFRY— 2 X — ; % ﬂt%g
A &
1415( 3 1612 |0
18,3 “ =
— ) C3. —
; 19 _
2.3 (1.0
/ j . |19.8
=] =]
0503 2
| o 175 | B
m| #
0.8 |05 A
e 17| v
= 1Al I3 |7q
— |06 S
5 18.8 P
=] mq]
A
39128 1547
o i
19|07 s
| . [201
B GG g
R Y %u?} I i
B mR MR MR RE:
R - =R | | | =
65,; 0.1]06 o
s‘ﬁ@iﬁm@ﬁm;—fs £ = | 20.6 | 13
P e et - 17 /L & — il




REBRIGES £EHEAM ER25F4R28 ~ FR25F4A8H
. ok B % HEs (L) LKBEH(TER) 1H1E p::i s &
(X AN 4/2 4/3 | 4/4 | 4/5 | 4/6 | 4/7 | 4/8 | BEt RES (B.%0) |[(RK. EER)
A VA SR — — — — — — — - M -
(B @) 0E 30
¥ N v -] ISyl 00| — — — — - — 0.0 by J|IVINELYY e 0.0 kv
E22FS) (F F) 8 8 & 0| 77 ~77
o N 2880 =58 - - - - — - - by — IIHNEY [ —
(IN%ESR) 0& k3l ~
+ N v | B8 16] — 2.3 25 — — 0.7 71 by 85I VHN T vy 0.7 by
G& XK) 16 22 24 21 83 & 0| 133 ~ 308 [[nh'A 0.9 tv
LA | Z8agh R — — 0.3 03] - — 03 09 b 29 vy 15 b
(F &) 13 14 4 31 & 0 17y - b
hvt L =) ool — 18 17l — — 1.0 45 by 70 t'4 - by
(8 &) 16 21 16 11 64 & Edn Emb] 02 bv
hv# B 8 EHE 04| — 0.1 0.1 - - 0.1 0.7 bv 20| VA E 7 - by
(hnFEIER) 14 5 3 9 31 & n| 374 ~ 592 |[739 00 tv
hv#r B 8 ISyl 02| -— 0.3 02| — - 0.1 08 bv 38 [ 0.0 kv
(F k&) 2 11 4 3 20 & 0 ERb) —
hvAt - -2 ISyl — — 1.1 10l — - 038 29 by 57| VA E £ 0.0 kv
(& &) 21 20 10 51 & 0| 271 ~ 557 |[33a9 — b
hvAt B 8 =R 1.1 0.1 1.2 30| — — 1.9 13 bv 57| VA E [ 0.6 kv
G& K) 15 3 41 47 22 128 & *n| 258 ~ 570 |33V 0.0 bv
hvAt =8 =R — — — - - - 03 0.3 by 262 b4 0.0 kv
GREM) (B @) 1 1€ 0 337 — by
Hhvrt =8 =R — — — — — — — - M - b4 - by
(B EMR) (F &) 0E 0 3317 - b
hy#t £ A 4l — 1.0 0.8 0.8 27 — — 53 bv 1,343| hVA T4 [z 0.4 +v
GREM 1 1 1 1 4% 40| 349 ~ 731 [[337 —
VA =8 =yl 48 0.9 29| 102 — — 30| 218ty 1,668|7VA [ 0.8 bv
(B EMR) (e &) 3 1 2 5 2 13 & 0| 287 ~ 992 337 —
hv# =8 EHE 34 45 3.1 50 — - 10 170 by 1,073|hvAF 7 1.3 b
(B EM) (i K) 4 1 5 4 2 16 & 0| 266 ~ 870 |33V —
h#r = 5| B8 163| 156 — — - - - 319 by 15,946 Ev4 0.0 bv
(KE ) (& &) 1 1 2 & 0| 218 ~ 305 |337 -
hvt T H EHE — — — — — — — — — [ —
(KE ) (G& K) 0& ¥ ~ 337 —
Ev% B & EHE — — 0.0 oo| — — — 0.0 bv 1 hyt 2.9 by
(k&) 21 20 10 51 &€ ¥n ERb] -
Ev4z L= R — — 03 03] — — 0.0 0.6 bv 4 hy# 73 by
G& K) 15 3 41 47 22 128 € ¥ ERD) 0.0 tv
337 L= g 02| - 00| — — — — 02 by 3 hyt 45 by
(8 &) 16 21 16 11 64 & 0 [ —
337 L SR oo — 00| — — — — 0.0 kv WERPESS hy# 0.7 bv
(In%E4R) 14 5 3 9 31 & 40| 804 ~ 828 [’V —
E Ly L 2 g — — — — — — — - M - hyt 08 by
(F &) 2 11 4 3 20 & 0 ] 0.0 kv
a7 - 2 S — — — — — — — — — hyt 29 by
(tk &) 21 20 10 51 & %0 [ 0.0 kv
337 B 8 EHE — — 0.0 oo — - — 0.0 bv 0 hyt 73 b
Ga K) 15 3 41 47 22 128 & %0 t"v4 06 tv
ATH B 8 R - — — 260 — — 17.0] 430 tv 782
(F/miL) 24 31 55 & ¥0| 137 ~ 140
ASH B 8 g — — 2.3 62 — — 45| 130 bv 319
G& K) 5 11 25 4 £ ol 128 ~ 141

Fh2~5<




RETRERRER (202) £EHEAM ER25F4R28 ~ FR25F4A8H
8 ok B % HEs (L) LKBEH(TER) 1H1E p::i s &
(X AN 4/2 4/3 | 4/4 | 4/5 | 4/6 | 4/7 | 4/8 | BEt RES (B.%0) |[(RK. EER)
VISR | RyFE 7 = - - 0.6 15 — - 03 24 by 241
4 3 3 10 # ¥0| 42 ~ 110
SR | RyFiE e ko 0.0 00| — 00| X — - 0.0 by 18
1 1 1 3 ¥0| 714 ~ 1095
U5R | SyFiE | - - 6.4 53| — - - 1.7 bv 530
11 11 22 % ¥0| 150 ~ 150
SR | RyFiE R — — — — — — - - M -
(HEH) 0 # *n ~
2 FEH SR 16| — 0.8 1.7 00| — — 41 by 844
(F #) 1 1 2 1 5 & %Al 102 ~ 139
P2 b FEH # - - 42 03] -— - 0.1 46 b 391
8 2 2 12 & 0| 61 ~ 110
AL A B # EHE — — — — — — — - M -
17 (hNFESR) 0E B ~
AL A B & B8 — — — — — — — - -
15 Ga K) 0E %0 ~
RILA ® & BHME — — — — — — — — b -
1h (@) 0& 0
wEwol E 8 BHE sorya| a8 | v | AT | A | R BV REE 7 €& [1€4Y
ERERE (B &) 1 91 26 12 39| 885 78] 1132 K| 162K
TEM | K B = ® 7Y | An | 7Y [ YWEE | w4y | onr | bavF | Bt £5H A |20 & 7 1,542 &
B R E B 3 K& 1.3 7.7 5.4 18 0.1 0.0 00| 853y | 6 B 590 by |4 AR 1,737 &
EEHE x B w % 70 | An | 7Y YN MY | s | hasF ait £5B8 | T0M & 7% 368 A&
B x| TEB 2 KE 25 24 0.7 19| — 0.9 02| 304ty | 6B 218 by | A0k 557 &
FE kB ILEE WA | hEGF | LA | RTY | INTY | YNEE | e 118 1Y [Zofh 5
% FEH B 15 — 82| 307.1| — — 283| 16.2| 3606 v 328+ 0.8 by

R VR7 S 1=
M- R¥%RL.

R EROF-HHAET .
ro.0kv ] : ¥ E0kgl £ 50kg kK.

[REE BB RERBRIERBFICT—2AFTET .
ro¥ny:1B1E/8%ES0kgll L0.5kgk i




